
Primo sguardo ai dati 
congiunti Excelitas/LAAPD



T dependence



 / ndf 2χ  18.38 / 16
Constant  0.06±  1.94 
Slope     0.00245± -0.05031 
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 / ndf 2χ  18.38 / 16
Constant  0.06±  1.94 
Slope     0.00245± -0.05031 

ampli1 Vs T  / ndf 2χ  29.11 / 16
Constant  0.053± 2.156 
Slope     0.00233± -0.05651 
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 / ndf 2χ  29.11 / 16
Constant  0.053± 2.156 
Slope     0.00233± -0.05651 

ampli2 Vs T

 / ndf 2χ  18.61 / 16
Constant  0.052± 2.022 
Slope     0.00227± -0.05198 
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 / ndf 2χ  18.61 / 16
Constant  0.052± 2.022 
Slope     0.00227± -0.05198 

ampli3 Vs T  / ndf 2χ  26.81 / 16
Constant  0.05±  2.17 
Slope     0.00219± -0.05482 
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 / ndf 2χ  26.81 / 16
Constant  0.05±  2.17 
Slope     0.00219± -0.05482 

ampli4 Vs T

 / ndf 2χ  25.22 / 16
Constant  0.036± 2.971 
Slope     0.00161± -0.04252 

T [deg]
18 19 20 21 22 23 24 25 26 27 28

A
m

pl
itu

de
 C

h5
 [m

V]

0

1

2

3

4

5

6

7

8

9

 / ndf 2χ  25.22 / 16
Constant  0.036± 2.971 
Slope     0.00161± -0.04252 

ampli5 Vs T  / ndf 2χ  26.28 / 16
Constant  0.029± 3.103 
Slope     0.00127± -0.03471 
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 / ndf 2χ  26.28 / 16
Constant  0.029± 3.103 
Slope     0.00127± -0.03471 

ampli6 Vs T
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